Multiplication de Trois Monomes ou Polynomes Aléatoires
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Simplifiez chaque expression.

1. (50 — 4n® — 5n)(8n* + n® + 6n?)(—3n" + 3n® — 8n?)

(807 + 8v + 2)(—Tv* + 5v? — 5u) (4o + 8v* 4 40?)

3. 3t3(8t* 4 3t%)(—3t° + 3tY)

- —4a3 (42 — 62)(—2° + 3%

(—2p® + 8p? + 5p)(—8p* — 5p — 5)(2p° + 8p — 9)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(A) Réponses

\}
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Simplifiez chaque expression.

(50 — 4n® — 5n)(8n* + n® + 6n%)(—3n* + 3n® — 8n?)
= —120n" +201n'° — 359n° + 261n° + 11517 + 142n° + 240n°

(80 + 8v + 2) (=T + 5v? — 5v) (4v* + 8P + 4v?)
— —92240” — 5120% — 408v" — 296v° — 3360° — 2000* — 400°

33 (8t 4 3t%) (=317 + 3tY)
— —72t12 4+ 45¢11 4 27410

- —423 (42 — 62)(—2° + 3%
= 162" — 7227 + 7228

- (—2p® + 8p? + 5p)(—8p* — 5p — 5)(2p° + 8p — 9)
— 32p" + 20p° — 716p° — 204p* + 60p> + 385p% + 225p

MathsLibres.com




Multiplication de Trois Monomes ou Polynomes Aléatoires

(B)

Ot

Simplifiez chaque expression.

- —3h(=5h + 8)(6h — 5)

- (6k* — 3K)(—8K® + 3k*)(9k* + 3K?)

3. (=9m® + Tm* — m*)(m* — 6m® — 5m?)(—m?* — 3m)

(—62° + 42 + 52%)(62* — 32%)(72° 4 627)

. (r4 — 43 — 3r2)(—r3 + 47 + 77“)(7“3 +7r? — r)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(B) Réponses
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Simplifiez chaque expression.

- —3h(—5h + 8)(6h — 5)
— 90h* — 219h% + 120Ah

- (6k* — 3k)(—8k” + 3k*) (9K + 3k?)
— —432k% + 234k7 + 45k° — 27k

(=9m® 4+ Tm* — m?)(m* — 6m® — 5m?)(—m? — 3m)
= 9m™ — 34m' — 185m° + 23m® + 82m" — 15m°

(=62 + 42 4+ 52 (621 — 32°)(72° + 627)
— —9252212 4+ 78211 4+ 378210 + 327 — 9028

(=43 =3 (= At ) (P 4 T = Tr)
= 19+ 177 + 578 — 13877 — 25970 + 1331 + 1470*
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(C)

()

o

Ut

Simplifiez chaque expression.

=807 (3vt 4+ Tv? + 40?) (—4° — 20" — 60)

—8Kk*(—9k* — 6k%) (2K + 6k?)

- 4a*(—4a® + 4a* — 6a)(5a® — 9a* + 3a)

(=30° — vt + 90%) (=80 + 90 + 30°)(Tv* — Ju — 6)

(52?® — x + 3)(—8x* — 4a® + 22%)(92° — 2t — 52%)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(C) Réponses

o

Ut

Simplifiez chaque expression.

=807 (3v* 4+ T + 40?) (—4° — 20" — 60)

— 960 + 27203 + 38402 + 4000 + 192010

—8Kk*(—9k? — 6k%) (2K + 6k?)
= 144k + 528%" + 288k°

3. 4a*(—4a® + 4a® — 6a)(5a® — 9a* + 3a)

— —80a” + 224a® — 3124 + 2644° — 724°

(=30° — v* + 90%) (=80 + 90" + 3v°)(Tv* — Yv — 6)
= 16802 — 3490 — 6030'% + 14700° + 270% — 71107 — 1620°

(52 — x + 3)(—8xt — 4a® + 22?)(92° — 2t — 5a?)

— —360z™" — 6821 + 1222° — 562° + 11827 + 642° — 302°
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(D)

Simplifiez chaque expression.

1. (=9t — 7)(—4t* — 5t)(—5t* + 3t?)

()

(207 =y (—6y* — 8y)(5y° — y")

3 (=5y* = 8y°)(=3y* — v° — 3y°) (9" — 2y")

1 (2d + 9)(9d* — 3d*)(—3d* + 2d — 6)

Ut

- 2dY(6d* — 2d — 9)(4d° + 8d* + 4d?)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(D) Réponses

[\

(@

Simplifiez chaque expression.

(=9t — 7)(—4t* — 5t) (=5t + 3t%)

= —180t% — 257t° + 44¢* + 105¢3

(2y° — y*)(—6y* — 8y)(5y° — y*)
= —60y"* — 38y + 50y'" — 8y’

5 (=5y* = 8y") (=3y* — y° — 3y (9y° — 20")

= 135y 4+ 231y'% + 149y + 17040 — 48y°

(2d + 9)(9d* — 3d°)(—3d* + 2d — 6) |
= —54d" — 189d° + 123d° — 504d* + 162d°

2d(6d* — 2d — 9)(4d° + 8d* + 4d®)
= 48d" + 80d'" — 56d° — 160d° — 72d"
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(E)

Simplifiez chaque expression.

1. (=9h* — 2h*)(8h* + 3h + 7)(—=Th* + 4h* — Th)

()

(6p° — 8p*)(—6p® + 3p?) (—Tp* + 4p?)

N

33T+ P 3 - T

W

—8t(—4t7 — 4t (=22 + 9t 4 7)

Ut

(62 + 72 + 622)(22° — 8a*) (8% + 3x)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(E) Réponses

[\
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ot

Simplifiez chaque expression.

(—9h® — 2h?)(8h* 4 3h + T)(—Th> + 4h* — Th)
— 504h% + 130" 4+ 815h° + 123h° + 427h* + 9813

- (6p® — 8p*)(—6p” + 3p*) (—Tp* + 4p°)
— 252p° — 606p° + 432p" — 96p°

SBT3 T
=212 — 144" — 1210 — 63

C—8t(—4t® — 4t (=262 + 9t + 7)
= —64¢% + 22417 + 51210 + 224¢°

(621 4+ 72 + 622)(22° — 8)(—82% + 3z)
= —962" + 30820 + 25027 + 2522% — 14427
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(F)

Simplifiez chaque expression.

1 (4K — TE®) (6k — 1)(—2k° + 3k* + 7k3)

()

- Th*(8R® 4 3h*)(9R® — Th* + R?)

3. (=30 + 8v — 4)(—9v + 4)(9* — 8v — 6)

e

(w® + w? + 5w)(Tw* + w?® + Tw?)(—6w® — 6w?)

Ut

- (=9¢" — 9¢° + 6¢%)(9¢* + 6q + 4)(—9¢" + 2¢° + q)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(F) Réponses

t

Simplifiez chaque expression.

(4K — TE} (6k — 1) (2K + 3K* + TE?)

= —48Kk"0 + 164k° + 16k° — 301k" + 49K5

Th*(8h° + 3h*)(9R® — Th* + h?)

— 504h™ — 203K — 91412 + 214!

3. (=30% 4 8v — 4)(—9v + 4)(9* — 8v — 6)

— 24305 — 9720 + 112202 — 18402 — 280w + 96

- (w? + w? 4 bw) (Tw* + w® + Tw?) (—6w” — 6w?)

— —42w'? — 90wt — 306w — 330w — 282uw® — 210w”

(—=9¢" —9¢° + 6¢°)(9¢° + 60+ 4)(—9¢" + 2¢* +¢)
— 729¢" + 1053¢% — 27¢" — 207¢° — 252¢° + 48¢* + 24¢°
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(G)

()
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Simplifiez chaque expression.

- (p® = 5p” +8p)(—4p” +2p — T)(p* +p — 2)

(=m?* +9m® + 5m?)(=8m? — 6m?)(—9Im* + 8m?)

- (9y — 6)(4y” — 4y)(—Ty* + 8y7)

- —8¢* (=g’ + ¢*)(—4g" — 8¢%)

. (—5g4 +6¢° — 592)(—592 +9¢g + 5)(692 +79+9)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(G) Réponses

5.

Simplifiez chaque expression.

(P —=5p” +8p)(—4p” +2p = T)(p* +p — 2)

— —4p” + 18p° — 19p° — 42p* + 93p® — 158p + 112p

(=m* 4 9m® + 5m?)(—8m? — 6m?)(—9Im* + 8m?)

— —72m"™ + 658m'° + 318m? — 482m® — 240m”

5. (9y — 6)(dy® — 4y)(=Ty> + 82

= —252¢% + 708y° — 648y* + 192¢°

—8¢*(—¢° + ¢°)(—4g" — 8¢”)
= —32¢" — 32¢'° + 64¢°

(—5g" + 69° — 59°)(=5g” + 99 + 5)(69° + Tg + 9)
= 150¢° — 275¢" + 24¢° — 387¢° + 231¢" — 310¢° — 2254°
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(H)

Simplifiez chaque expression.

1. (9¢® —9¢* — 7e)(=5c° — 7c) (=8¢t + 2¢° + 9¢7)

()

(b — 2% — 3b%)(—4b* + 6b° — 3b*)(—6b° + 9b* — 9b)

3. (90 — 6a*)(a* — 5a® + 5a*)(—a” + 3a*)

W

(=Tm* 4 2m® — Tm?)(m® + Tm? + 3m)(—6m® — 5m?)

Ut

(297 + 597) (—4yt — 2y° + 6y7) (4° + 8y°)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(H) Réponses

\}

t

Simplifiez chaque expression.

(9¢® — 9¢* — Te) (=5 — T7c) (=8¢t + 2¢ + 9¢2)
= 360c'? + 54c!t — 1225¢10 — 358¢ + 980¢° + 441¢7

(b — 2% — 30%)(—4b* + 6b® — 3b*)(—6b + 9b* — 9b)
— 24 — 1200 + 18007 — 811° — 13507 + 1894° — 811°

(9a° — 6a*)(a* — 5a® + 5a°)(—a” + 3a*)
= —9a"% + 78a" — 2284 + 2554” — 904®

C(=Tm* 4 2m? — Tm*) (m® + Tm? + 3m)(—6m* — 5m?)
— 42m™ + 317m° + 319m® + 328m" + 341m° + 105m°

(2% + 5y7) (—4yt — 207 + 6y7) (4y° + 8y?)
= —32y' — 160y° — 184y° + 136y" + 240y°
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(D)

Simplifiez chaque expression.

1. (96 — 76%)(9b* — 6b + 4)(—6b° 4 Tb* — 6b)

()

(=99 — 89)(—g" — 3¢°)(5¢" — 9g%)

5. (—2¢° +6q)(9¢" — 4¢° — 3¢°)(—9¢° + 8¢" + 3¢°)

19m®(9m® + 4m* + Tm*)(m + 7)

Ut

- 8¢3(5¢° + 8¢* + 3¢*)(2¢* + 3¢°)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(I) Réponses

(@x

Simplifiez chaque expression.

- (9% — 76%)(9b% — 6b + 4)(—6b" + 7b* — 6b)

= —4860% + 1269b" — 1773b° + 14160° — 664b* + 168b°

(=99 — 89)(—g"* — 3¢°)(5¢" — 9g%)

= 45¢" +94¢° — 195¢° — 2164"

3. (—2¢% +6¢)(9¢" — 44 — 3¢*)(—9¢° + 8¢* + 3¢°)

= 162¢" — 702¢" + 604¢° + 204¢° — 198¢" — 54¢°

C9m®(9m® + 4m* + Tm®)(m 4+ 7)

= 81m" + 603m!'"Y + 315m” + 441m®

- 8¢3(5¢° + 8¢* + 3¢%)(2¢" + 3¢°)

= 80¢"? + 248¢™ + 240¢™ + 72¢°
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Multiplication de Trois Monomes ou Polynomes Aléatoires

(J)
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Simplifiez chaque expression.

- (5a* + 5a®)(—a — 2)(3a* + 7a®)

5EA(—2k* — 3% — 4k%)(2k* + 6k%)

—8k3(4k — 9)(8k* — 9k?)

(4v% 4 2v + 6)(—8v* — 6v — 3)(—3v° + 5v?)

C—5b(—=Tb — 1)(—4b* + 6b° — 8b?)
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Multiplication de Trois Monomes ou Polynomes Aléatoires
(J) Réponses

o

(@

Simplifiez chaque expression.

- (5a* 4 5a*)(—a — 2)(3a* + Ta®)

— —15a” — 80a® — 1354 — 70a°

5EA(—2k* — 3% — 4k%)(2k* 4 6k%)
= —20k'" — 90k" — 130K% — 120%7

—8k3(4k — 9)(8k> — 9k?)
= —256k7 + 864k° — 648k°

- (40* + 20 + 6)(—=8v? — 6v — 3)(—3v° + 5v?)

— 960" — 400% + 160" — 2340° — 1560° — 90v*

—56%(—7b — 1)(—4b" + 6b° — 8b?)
= —1400" 4+ 1906° — 2506° — 40b*
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